20km

2011 5 14 13 00

1 62k 14 8 42 157
2 56k 14 9 30 207
3 a6k 14 10 30 237
31 20k 14 10 40 537
32 a1k 14 10 19 1527
33 23 14 9 59 1557
36 0k 14 9 41 267
37 a8k 14 10 15 307
43 ook 14 10 50 067
75 a3k 14 10 42 027
79 sk 14 10 51 7473
84 a0k 14 9 55 027
85 sk 14 6 00 027
86 s3km 14 6 00 097
87 sokm 14 6 00 077
101 55k 14 9 52 097
106 14 9 57 037

32km




15.2

33
155

101

37

3.0

79
74
43
0.6

10km

86
0.9

85
0.2

36
2.6




KHWEEESE

T ABERHE H B RRCGORHE E o SCRIFEAR

R
(B i) MR B STTARER FRVE) R
Era=ry =t Ol |1
, — | 250,000
[250, 0007478 3 /4E ] [ 100, 000%% 7 35 /4E ]
100, 000 [« Aol A5 R s K s s i
& B N\ 53 UV BR
50,000 [+« [50, 000475 3k/4 ]
B XSGV Z 4 (CTHRD (1)
ST [6, 9007474 # /K ]
[ 10, oooﬁms/ﬁ] ?ﬂ*ﬁ!"éﬁ%@ —* 10,000
y KT K 290 r% . |
[2) 400#&%#/35] H =t éngo | II| (ﬂi??$i’,l) i
N AmARES (1) A A
: 1’ 000 [¢—— <T&¢>ﬁflﬂ*5§%

.

| Sk AHE4A80  SkEAESAHH |
X R0 ) g = i
[k B REER Y 2 (14D
B SLPIEIR R2 2)
[ 40094 17 36 /4E ]

K — A2 HUIRAT (FEIB)
CBl T A A )

[ 200 3/4EiE ] %

R AEBE T R O T

p By
[22wG 38/ 4] ™ i e
(1O /4] LS R

(145
X Sv [VUIRY =HaM RIS LI MRS H e OGO

SCHRREE B IR SR AEIR T 5120027 AT

X Gy [#d]

[1, oooﬁméﬁé/ﬁ]

i,

HIBOR AR (170

[ [ 60077 5/1K ]

B @ 509478 #/¢K

% e RO RRR (170

1=
[ 5054 PG 3/ 4F ]

M o
BT RER S CROK SR A

b | R
!
1
Lﬁ% e O

Bt RIEFEAR 13X A~ HARED

XU, vINEh 1



